Math 1151, Simpson’s Rule Activity, Fall 2014 Name {<;g \(

Instructions: Use the numerical integration technique called Simpson’s Rule (the formula is given below)
to approximate the area under the under the curve on the given interval with the specified value of n.
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Instructions: Because the Trapezoidal Rule and Simpson’s Rule are approximations, there is an error
calculation associated with each method. The error on the Trapezomlal Rule is |E| <

(izaz [max|f"'(x)]], and the error on Simpson’s Rule is |E| < o —a)’ — [max|fV (x)|].

4. For each of the problems above, calculate the error using these formula for approximating the
integral for the specified value for n for both the Trapezoidal Rule and Simpson’s Rule.

/ 5. Foreach of the problems above, use the same error formulas to calculate the value of n needed
for each approximation method to get the error under |E| < 0.001 of the true value.

Remember to round n for the Trapezoidal Rule to the next larger integer, and for Simpson’s Rule
to the next larger even integer.
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